Things to recall from Geometry about right triangles:
· The angles of a triangle add up to 180 degrees.

· One angle is 90 degrees, therefore leaving the other angles to be acute (less than 90 degrees).  Why?  Because if the angles add up to 180 and one is 90, the other two have to be less than 90 together or otherwise it would be greater than 180 degrees.

· The side across from the right angle is called the hypotenuse.  This is always the longest side.

· 
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 = theta, the measure of an angle (could be degrees or radians but we will use degrees for right now).  

· If you know 2 sides of a right triangle, you can find the other because of the Pythagorean Theorem.  
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 (Whatever it equals squared must be the hypotenuse.  It is NOT necessarily side c each time in each triangle, it just depends on how it is labeled)  

· Each angle is represented with a capital letter and its corresponding side is represented by the lower case letter of that.  
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*Csc is reciprocal of sin (just flip sin), sec is the reciprocal of cos, and cot is the reciprocal of tan.  
In a triangle, depending on where theta is, depends on where the side that is opposite or adjacent is.  Opposite – straight across from (opposite of it), and adjacent – right next to.  

Ex:
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I. Given the following, find the six trig ratios.  (This means, don’t find angles, just set up the sides based on the ratios under SOH-CAH-TOA).
1. You need the missing side – so use Pythagorean 

Theorem to find it!  
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, so b = 6.  
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cos
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 = 4/5

sec 
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 = 5/4






sin 
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 = 3/5

csc 
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 = 5/3
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tan 
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 = 3/4

cot 
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 = 4/3 
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II. Find the missing side or angle.  


1.                                                  Think about what you know, what you need:





           You know an angle – 30 degrees and you know the side 






adjacent to it.  You NEED the side that is opposite.  

     X



Opp/Adj = tan.  So,
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both sides and you get 8tan30 = x, so x = 4.61.  
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2.              40


This time you know an angle, the side opposite of it, and 





             You NEED the side that is the hypotenuse.  Since opp/hyp
                       x                     110   is sin, then 
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.  Multiply by x on both sides 
                   


to get xsin40 = 110, then divide by sin40.  x = 171.13.  

3.                   11



This time you are finding the angle.  You know an 







adjacent side, and you know the hypotenuse = cos.  







Therefore cos
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=11/13.  To find an angle, you must 
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use 2nd cos (
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) of (11/13) to get your answer.  







Answer = 32.2 degrees.

III. If it says to SOLVE the triangle, you want all 3 sides and all 3 angles.  

                            A

1.                    





                                                          B

48 12

                     C

So, we know angle C is 48 degrees, angle A is 90 degrees, and side a = 12.  We NEED angle B, side b and side c.  Well, we know angle B, because all the angles must add up to 180, so to find angle B = 180 – (90 + 48) = 42 degrees.  There are different ways to get the other sides, it is up to you.  Let’s say you want to find side c.  You could use the 48 degrees and say sin48 = c/12 and then c = 8.9.  Then to get side b, you could do the Pythagorean thm but you need to make sure to use the “exact” number.  I would use cos48 = b/12 and get b = 8.03.  
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